L/ANIAS AR Fa e e SN ?

Can you fill in the numbers in sequence?
1 )3,4C )6 C_)80910
BRI 2

B2 5

%3: 7
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2N, IREHEE, BEA (O M, 20 (O, =Mka (O E?

Can you count? How many circles, hearts, and triangles are there?
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3. BUE P =mEE B (D .

Count the number of triangles in the picture. There are ( ) triangles.
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Which of the following sequences is in ascending order?
A.234567

B.569253

C.123467

D.123345

BE: A

5 —fE3E RV 4 B, Tony W7 1 2 BR, B N2

An apple is cut into 4 pieces. Tony ate 2 pieces. How many pieces are left?



Al
B.2
C.3

D. 4
EE: B

6.— LA 4 fRIR, EMILE 16 1RIR.
A cat has 4 legs. ( ) cats have a total of 16 legs.
BEE1: 4

TAERHER BT RARE, —I5F 10 MPcRE, MIRMEE 7 4 1, BrREEERZ /D HE
Bt EHL? (There are 10 toy cars in the kindergarten toy box. The children took 4. How many toy
cars are left in the box?)

A.6

B.7

C.5

D. 10

BE: A

SAEAMEEM B R E, FAL. &, B =MEAOKER, SHEAGOKA 4 HK. W Ming ¢
R L EALEAER, BRETEME I Z/EBR? (In the kindergarten toy box, there are
red, yellow, and blue balls, 4 of each color. If Ming takes out 1 red ball, how many balls are left in
the box now?)

A. 11

B. 10

C.12

D.9

BE: A

9.Chris HEBX, AATTHA 3 E/NHA, BHA 2 8N A 1E—HFEIEE 2D E/N A ? (Chris
is in line. There are 3 children in front of him and 2 behind him. How many children are in the
line?)

A. 4

B.5

C.6

D.3
BE: C

10 7E4NHEE FTEEDh, ANAATHES —HF, (/2850 Ken 255 3 0, HEAEBNRE 4 6.
B —H—HAHZ/ME/N A ? (During an activity in kindergarten, the children line up in a row.
Ken is the 3rd child from the left and the 4th child from the right. How many children are in the
row?)

A5

B.6



C.7

D.8
EE: B

11.5- C__ ) =3, 7+ () =11
Ez1: 2
B2 4

127-C_ ) =4, 9+ () =15
EE1: 3

EE2: 6

13— fE& T EA 6 AL 4 BBk, WIRFEMI —E2k, BCR AT ER G BRI T BE 1
i K ? (There are 6 red balls and 4 blue balls in a box. If you randomly take out one ball, which
color is most likely to be picked?)

A. AL3K Red ball

B. BBk Blue ball

C. ¥ER Yellow ball

D. #k¥K Green ball

BE: A

14. 80— %&b = A B MEECE (O {E. (Count the number of triangles in the picture. There

are ( ) triangles.)

JAVAVAN

OO0
OAO

B 4

15 5087 LR 58 /N 2R EHE P 142 2 (Which of the following sequences is in ascending order?)
A.234567
B.569253
C.123467
D.123345
BE: A

16 EAFER DA E, —37 10 EPcRE, AMIRMELE T 4 8, JrAMEER 2 /D>
BtHEH? (There are 10 toy cars in the kindergarten toy box. The children took 4. How many toy
cars are left in the box?)

A.6



B.7
C.5

D. 10
BHE: A

V7T AEGHEFE TR E, FAL. 3. B =FAENEK, SO XA 4 Bk WIR Ming 1¢
R 1 EALEIER, BRAEDLRMAE LG L/ EER?  (In the kindergarten toy box, there are
red, yellow, and blue balls, 4 of each color. If Ming takes out 1 red ball, how many balls are left in
the box now?)

A. 11

B. 10

C. 12

D.9

BE: A

18 3k EL (Find the pattern and fill in the numbers.)
98 96 94 92 90 () (> (> (D
ER1: 88

ER2: 86

ER3: 84

EHE 4 82

19.3E 24 /N34 A5 12 N3, (Convert from 24-hour format to 12-hour format.)
15:30( ) 19:00( )  2030(_ )

%1 2:30

%% 2: 7:00

%% 3 8:30

2007 1, 2, 3 EHUREH, BEUKIE R RS ED, ERZATH B Rk 7 EAE
K PRI EZ, EZEEP— % ?  (There are three stones (1, 2, and 3) in a
cup. To make the water level drop the least, which stone should be removed? To make the
water level drop the most, which stone should be removed?)

|
B0k

Al
B.2

C.3
EE: B

21.A G BHAM C R=HRGETEFH. AR “REGSATHEREK, HEC %Rk 7 &



REER, HEMIASEIRGEMARIZ? (O MASEM, () HASERIE.

(Rabbits A, B, and C are in a race. Rabbit A says, "l am not the fastest, but | am faster than
Rabbit C." Who is the fastest? Who is the slowest?( ) is the fastest, () is the slowest.)
Z%E1: B

EE2: C

22.14+34+5+7+9= ()
KR 1. 25

23,1 {75 JICF) 25 =3 LA A B 1 IFRAL A0 3 =3 (PIAL A0 A, | PO SRR = )
i1 24 1) 5 2. (The weight of 1 watermelon equals the weight of 3 pineapples. The weight of
1 pineapple equals the weight of 3 pears. The weight of 1 watermelon equals the weight

of () pears.)
BRI 9

24. TAEHA 50 HIE) B2 MBRC R, SRR 50, BLesEAth It T () A
“1” o (There are 50 athletes from the second grade participating in the school's
long-distance race, with numbers ranging up to 50. How many times does the digit "1"

appear in these numbers?)
BE: 13

25 /NIAHIRE R, (EHFEASGE, Lindy 225 18 8, fEHFRYGE, Linda 2% 28 . 18
B3tH () A.(Some Children are lining up to watch a movie. Lindy is the 18th from the
front, and Linda is the 28th from the back. How many children are in the line?)

145%: 45

26 EANHEREITRAGE, FAL. ¥, B =FEREMNEK, SREEIO %A 4 k. W Ming 1¢
R L EALERER, BREEME I LBk ? (In the kindergarten toy box, there are
red, yellow, and blue balls, 4 of each color. If Ming takes out 1 red ball, how many balls are left in
the box now?)

A. 11

B. 10

C.12

D.9

BE: A

27— ME& T EA 6 fHALERA 4 HERKk, W RPEMIC —(EBk, B AT BRI BRIV T eI
i K ? (There are 6 red balls and 4 blue balls in a box. If you randomly take out one ball, which
color is most likely to be picked?)

A. AL3K Red ball

B. BBk Blue ball

C. ¥ ER Yellow ball

D. #k¥K Green ball



o3
M
>

BIEMEENTERSE B4 - = - E-TBHENIX - BREEEEE 4K - IR Ming #PEH 1 EARKIK - R
EEBE—HBEZ /AR ? (In the kindergarten toy box, there are red, yellow, and blue balls, 4 of each color. If
Ming takes out 1 red ball, how many balls are left in the box now?)

A1l

B. 10

C.12

D.9

I
i
>

291 ERMMNEE=3 EEHNES -1 BEHRNEE=3ERNESE 1 EANMNWES=(__ )EHRMNEZE (The weight
of 1 watermelon equals the weight of 3 pineapples. The weight of 1 pineapple equals the weight of 3 pears. The
weight of 1 watermelon equals the weight of () pears.)

EE1:9

3012 REEE( Fill in the numbers according to the pattern)

0-1-3:6-10- C__ > (D

£%1:15
£%2:21

I

o

I

BLAVREUNGRERY - VR T 15 @k - S/NVERECHS 3 B4HE/\%F K BMOKR—EZS - RME/ 2T
#7 () #k? (The little monkey and the little rabbit went to pick peaches. The little monkey picked 15
peaches. When the little monkey gave 3 of his peaches to the little rabbit, they both had the same number of
peaches. How many peaches did the little rabbit pick?)

EE1:9

3211+13+15+17+19= ()

ZxE1:75

33ENMERITEENG - /e “A” ~/\RE “B” SMS0KMER -/NRAB LYW EBESH - () MEHR.
# () #?(The little animals are holding a sports meet. Rabbit “A” and Deer “ B” are participating in a

50-meter race. Rabbit A took 12 seconds, while Deer B took 8 seconds. So () runs faster,? faster by ()

seconds?)
Zx1:8B

Ex2:4

MBBSE2UR BHESE23 N ERBEEMANRRAERES3HEE 88 () w88 () w-
(Dad is 24 years old this year, and Mom is 23 years old this year. When their combined ages total 53 years,

Dad will be () years old, and Mom will be () years old.)

BE1:27

Zx2:26



IREFA & (How many rectangles are there?)

I
bl
-

- 10

36.5 16 E/NBAEBER—HE - Terence 92 E 6 {E/\BBR - Terence WAEA_ E/BA ? (There are 16 children

standing in a row. There are 6 children to the left of Terence. How many children are to the right of Terence?)

I3
bl

1:9

37.82 17 MipmEEHBE () M () o (Thetwo numbers adjacentto 17 are ( )and( ))
x2£1:16
£2£1:18
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